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. . .. )
See Differentiation §2

See Functions and Graphs §3\
9(f(2) = 9(ae-3) = (ax-3) = 447 -12+9 A

J
. A
9 See Integration §1 and §2
1 i
—dx = |4 B dy
ISJE j 2/3
= X _+¢C
23
2{
= 2%+ C
N\ J
e See Vectors §3\
2
= (2- () + (3-) +(-2-0)
= 32+;£‘+(:a]2
= 9+49 +¢
= 6.
So dag= o2 C
J
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o See Polynomials and Quadratics §3 and §7\
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~
See Sequences §1 and §2

'u.g':‘_j-
Uy = 3pe-4 = 3x (1) -4 =-3-4=-7
U = Bug—4 = 3x (F)-4 = -21-%=-25 A

J

~
See Functions and Graphs §10

y=-3-f@x) =-fx)-3.
Reflack -
¥ R
) * _
A 3/;()\3 .

The Ty point s (4-5).
Since the % cefficiont s 3>0,
H parakolo. ' concaxe up, c.e.
U —shaped.

Rumgmber:
The parakolay = ale-p)*+q
has tumng pounk (P, ).

\--'\._.J\___/\___/s._./

o the fuming pount s o mimimum . C
\S Tirung po |
: p
See Trigonometry §4

s = Asuaeosx’ el = _Oﬂ&d’ﬂ' = %‘JE

= dx :Q_'J_ﬁ:x i‘_ 5‘ 3
3 3 :

4z o5 = Mjacnt _ L
= —9—' hﬂ‘:dmme, 3 A
J
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See Straight Lines (a) §7, (b) §8, (c) §10, (d) §3\

d+10 1+1
—_—

2 2 )z(‘:;i).

y-1=-3(c-b) using N(6,1)
Y-1= 3% +1%
3"‘”’3'19:0'

Qmm:% = 5. -1 So My=1 suce ADLBC.
(LE Mg(_'ﬁ M*D-'-—i}
So the equation s y-1=1(x-2) using A(2.1).
x—y-i=0‘
°So{ue s&wultwousLy._
Method 1 Elimwmoting 4 -
3e+ry-19=0 —D
r-y-1=0—0

@D+@: ¥ -2 =0
r=5

Method. L anmge bothe equations for Yy and equate:
19-3x = 1-1
4y = 20
rL="5
Whan =5, Y=5-1 =% So P hus cordunates (5,4).
1-4

O - o= 2 - =my fowput )
[ So PQ and BC ase parallel.

Inspection Copy 93

SQP



